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ALDESS DEFHY
oMot HElg WESA Ad
WESHAMNLH(WEANSE EEEIH) (2 &HH)
(o
SN ED B (3H) - MEAY - BAS %@ﬁ HD=2
ol g1 4] ,030,008 4,646,954 N616,946
801 ol bl ,030,008 4,646,954 N616,946
1 2Bl H| H] ,030,008 4,646,954 N616,946
O ol gl gl 4,030,008,000& 4,030,008
EHEMAHE el (NEAMNY SEFH) ,295,669 8,776,400 A 1,480,731
WESHS ANE=2 8§ 44X € sA22 , 425,609 4,608,018 817,591
201 LBt ,079,669 2,153,702 ANT4,033
01 AP 22| H| 2,316 2,316 0
ONEXNBHEH A2S & 2AI2X 2 2,316
O=2AMIIEYH 260,000& = 1CH = 63| 1,560
o= AMsX 21,000 = 38+A « 128 756
02 B32%H| ,077,353 2,151,386 AT4,033
o3 1,439,308
OUuEFEBHH(Z222 % HA) 447 ,596
N2 50,000& * 304 = 12&€ 1,800
-MI|22 7.,700,000& = 12& 92,400
QNS HONWI A6 AIES
25,000 = 930&l4& « 12€ 279,000
-MHol= 7 Z2H Sl 800,000 = 13| 800
—-CCTV E48l&HZ AU =2
2523 * 3,603m *» 12& 10,896
—-CCTV M 23|68 AIE22
95,000& * 550 ~ 12& 62,700
ONEANSHAHAAE RAE4H|
32,000,000& = 12& 384,000
ONENSHAH JNlsed2eldl
30,000,000& * 12€ 360,000
OWEXCIEEAAEH(TGIS) KA E2H|
11,584,000 = 12&€ 139,008
OuUEZAIINH KX E4H|
30,000,000 = 55CH ~ 2/100 33,000
OuEAE S X 22t
20,025,000 = 449H * 4/100 35,244
[@FNE=PSE=) A& & H| S Xl 3,000
-st2st& 0| 1,000,000 = 304 3,000
[@INE=Fk=1 FE 24 Y T NS
42 567,520 * 88% 37,460
oMYTH 164,737
OuUENsSE &IIR=2
35,000& = 353 A& + 12& 148,260
ONSHEE HUANHY +22 16,477
=AM S HO D 48 700& * 1920H 9,351
NS E 8,200 * 869= 7,126
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SN ALDERS DEFH
Hu: OMGID Hels WEBA AN
el DEHEMAE 2e(nSAE SEalH) (Sl & &)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONETH 156,260
Oustlss &JIes=
35,000& = 3314 « 12& 139,020
Oustlss FLAUEEFEH =2 17,240
-ASHO DI 48,7003 = 190CH 9,253
Hss 8= 8,200& 9742 7,987
o093 186,472
Oustlss 8lIes=
35,000& = 3804 « 123 159,600
Oustlss HFLANEEH =2 26,872
-A S HO DI 48,7003 = 3270H 15,925
ss =+ 8,200&  1,3362 10,947
oxETHE 130,576
Ounsdss &iles
35,000& = 26004 « 123 109,200
Oustss FUATFH =3 21,376
-A S HO DI 48,7003 = 2170H 10,568
(S SE= 8,200& = 1,318= 10,808
206 M= Hl 28,750 60,000 A 31,250
01 MHZ 4l 28,750 60,000 A 31,250
OUsSHAHI E=XMH +& 28,750
ODLP nS&&® HIUHAHH F
1,200,000& * 100K 12,000
OUSHOHI =L HHEX(CPU)
1,000,000& = 5H 5,000
OUSHOI &S H O E X (CONT)
550,000& = 504 2,750
OMSHNHI AAZZE X (FLASH)
500,000& = 104 5,000
OUSHOHI S+ FSEXI(LSU)
400,000 = 1094 4,000
401 AIEHI L 20 3,314,190 2,394,316 919,874
01 A& Bl 3,298,800 2,385,700 913,100
o= 2,128,800
OLSTEEHH deted) XS
2,500,000& = 14 2,500
OtsSE=x: E58 S8HZNE LA A
ELX 49,500
-AEMSS BF 130,000& * 3004 39,000
-Bdldls s EF 70,000& = 15004 10,500
Odlss &X 775,000
—ASI(dE) &X 50,000,000& * 1474 700,000
-2E2S4d) X 10,000,000& = 6K 60,000
2SS (4) &x 2,500,000& = 6H 15,000
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SN AEDERS DEFYY
M NG HelH NESA M
el DEHEMAE 2e(nSAE SEalH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OROINZ BANE B8k HE(F24 oo
g) &1 5,600,000& * 250 & 140,000
OEHUE T LEDEHS wWiMSA
2,200,000& * 1000 & 220,000
OkL® WSAUSHOI wAH
7,500,000& = 20CH 150,000
OX3E 2SS4 NEAMNSAAEH X
12,000,000& * 50 £ 60,000
OUSHOUI HASHUIZ 2lSAt
10,000,000& * 5CH 50,000
OWsSASHOA AMAE JIsiid
650,000,000& * 14 650,000
ORSNSHOI 258 2HFDS LHY
X AE &X 200,000& = 1590H 31,800
odg+# 250,000
Oustlss RN+l 250,000
s s 600,000& *» 250% 150,000
Hss 3= 2,000,000& * 502 100,000
OM3+& 250,000
Oustlss RALE+H| 250,000
s s 600,000& *» 250% 150,000
s s 3= 2,000,000 = 502 100,000
os4+3& 350,000
Ounsdtss SANE=H| 350,000
s s 600,000& * 350% 210,000
ss 3= 2,000,000& * 702 140,000
O¥3E 320,000
Oustss SANE=H| 320,000
XSS 600,000& * 300X 180,000
Hss EF 2,000,000& *» 702 140,000
03 AlE S THHI 15,390 8,616 6,774
OUSKSAES EXAY 2UH(2H)
1,935,000,000& * 0.36% 6,966
OuNsStss FANES 2UHI(7H) 8,424
Oag+3& 250,000,000& * 0.72% 1,800
ONM3RE 250,000,000& * 0.72% 1,800
Oos4g+3& 350,000,000& * 0.72% 2,520
(OF=E-Enr=! 320,000,000& * 0.72% 2,304
405 THobF S| 3,000 0 3,000
01 et EFFHSHI 3,000 0 3,000
CUsSTFEBHH W) 2
3,000,000& =« 1CH 3,000
HAFBAIAE(BIS)AIY =& 1,506,067 2,381,999 A 875,932
201 L2l 985,306 912,733 72,573
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SN AEDERS DEFYY
M NG HelH NESA M
el DEHEMAE 2e(nSAE SEalH) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 AFR2t2ltl 3,140 3,140 0
OHAZEZHE 242 B 3,140
OoxZgHd EH 185,000& = 200 « 43| 1,480
O&ET=EAMI EU 260,000& = 1CH = 33 780
OZMESI EY 70,000& = 10H + 43l 280
O=AEX 20,000 = 32A = 108 600
02 2324l 982, 166
OHAZEANAH 222= & HMAl 523,052
O+ 4ol & 2 (0BE)
19,800& = 41704 123 99,080
OHAZEBOHHII(BIT) &I 120,420
-JI&E 18,000& = 5500H  12& 118,800
-4 18,000& = 15CH ~ 63 1,620
OHAFEQHHII(BIT) SRS 214,080
-JI&E 32,000& = 55000 = 12& 211,200
-4l 57 32,000& = 1500 = 6¥ 2,880
OHAZEHEH 2NFESHY 0182 (20M)
2,200,000 = 12& 26,400
OHAHESZTE ME3lH (128k)
1,856,000& = 12& 22,272
O3Z2EE0ESZ 1,000,000& * 12& 12,000
OHAAIZE &2l SMS oI2&
162 * 150,000 * 123 28,800
OHAREANAH SAES 459,114
OHAZEQHHII(BIT) RAE =+ 275,701
e 4,840,869,300& * 5.5% 266,248
- A 847,270,000& * 5.5% » 1/12 3,884
-4 405,000,000 * 5.5% * 3/12 5,569
OHAZECHHII(BIT) MIIAHHY =22
48,7003 = 550CH 26,785
OXt&Es8e2II(0BE) RAE
496,348,800% * 5.5% 27,300
OLHdHSHAMNI RNES
254,153,000& = 5.5% 13,979
O E RAES
254,153,000& = 5.5% 13,979
OANAHE2IEH RAES
580, 113,610& = 5.5% 31,907
O2gua2d KIS
193,468,000& = 5.5% 10,641
OHAZEQUI AMEBEE s34 |2
15,000,000& * 14 15,000
OHAZECHUNI| HHOIH A SHAI
25,4108 * 550CH 13,976
OV3 WINDOW Server 6.0 2,355,540 * 14l 2,356




2N
X ZH -
L= B
el

dDSE2 DSIMDY
HMotD Hels DnEEP AH
SHAN 2 (REAY SHIH)

_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OfHIIX=2 8 K2
39,450,000 * 5.5% 2,170
OOracledlz=Xg & S22
105,500,000& = 0.24 25,320
1T AIEHIZ 2L 520,761 1,469,266 A 948,505
01 Al&H| 517,500 1,465,000 A 947,500
OHAASBOHWII(BIT) &=
13,500,000& = 1500 £ 202,500
OHABEBOHWNII(BIT) = H
12,500,000& * 2400 & 300,000
OHABESBOHL DI (BIT) Ol A X
3,000,000& » 5JH A 15,000
03 Al 24| 3,261 4,266 A 1,005
OHAEBAIAE AIR=X AEL20UHI|
517,500,000 * 0.63% 3,261
O NS 22| A AE(ATMS) 2= 363,993 346,987 17,006
201 et d| 363,993 346,987 17,006
02 3244l 363,993 346,987 17,006
OFHNE2AAALY 222 Y MA 207,312
OzEas2ANLY SEHUE 2R
2t 0|22 (20M) 2,200,000& = 12& 26,400
O L& | Xl =2 (DSRC-RSE) EA'E%
40,000 « 12304 = 12&€ 59,040
OB I|IXI=(DSRC-RSE) &MII22
20,000& = 1230 A = 128 29,520
OXNSHSTOIAZI(AV]) SR
44 000 « 6O A + 12€ 3,168
OXSHSTOIAZX](AV]) &2
40,000 « 6O A + 12€ 2,880
OS2 HZIEXEH(MS) EAR=
44,000 « 200 A + 12& 10,560
O ZEXEH(WS)HD| 2= 38,400
-2 AHA! 120,000 = 10004 ~ 12€ 14,400
-CE A 200,000& = 10004 ~ 12€ 24,000
Odatnet s =2
43,000 « 2000 A + 12& 10,320
OYALXEI(VS) SMeS
44 000 « 30 A + 12€ 1,584
OYAZLXAX(VDS) IS
40,0009 « 30 A + 12€ 1,440
OUWESEE HHO0le E48AAE A U
2,000,000& ~ 12& 24,000
O NEBCAALY KB4 156,681
OXEHS QAN (AVI) SAE%
132,425,739 * 5.5% 7,284
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SN ALDESR DEFM
M NG HelH NESA M
el DEHEMAE 2e(nSAE SEalH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OS2 ZHEX(WS)F X2 (1XHAIY)
372,991,937& * 5.5% 20,515
OS2 M ZEXIZ(WMS) SXIE == (2XHAHY )
389,798,852& * 5.5% 21,439
OS2 M ZHXIZ(WMS) RXIE=(30)
101,412,7302 * 5.5% 5,578
O L ¥ I Xl = (DSRC-RSE) SR XIE =
325,645,506& * 5.5% 17,911
O ®II X = (DSRC-RSE) = KIE == (2Xt AL )
395,918,949%& * 5.5% 21,776
OUHSIEAN SR+
309,605,300& * 5.5% 17,029
OHEHIEAN FXE=(21)
37,180,320& * 5.5% 2,045
OdHUWESRZD SN2+
80,433,400& * 5.5% 4,424
OUEBHUERID S E2(2X)
8,041,598& = 5.5% 443
ODBMS R X2 = 64,062,000& * 14.2% 9,097
OGISH & S X &= 20,286,300& * 5.5% 1,116
OdtolA A A SX 22 4,830,0008 * 14 4,830
OSNMSR XI 2 == 32,650,266% * 12% 3,919
OYMAS/W FXE = 13,524,000& = 5.5% 744
OdgsgZz]d RAES
272,022,191& * 5.5% 14,962
ONWR S/W S X2 11,958,480& * 5.5% 658
og2gs)l RAEx 7,012,6533 * 5.5% 386
O &AXEXI(VDS) FAE == (2XHAIY)
45,899,879& = 5.5% 2,525
HRaes(Hdnses? nsd) 2,256,136 2,317,185 A61,049
HEHAHXES(RSAE SE3H) 2,256,136 2,317,185 A61,049
A3 29 2,256,136 2,317,185 A61,049
09 HMES 2,073,386 2,182,385 A108,999
01 SAL- SHINTES 2,073,386 2,182,385 A 108,999
OAdZeBE =AY 2HHIEXD
2,073,386,000& 2,073,386
404 SASHUHEHES 182,750 134,800 47,950
01 At - BHUAE2HES 182,750 134,800 47,950
OAdZelZsE =AY JH=2ZHEX
182,750,000& 182,750
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N & o & AF & H Al A
2016 & 204k JIEFSESIAH M
EA: AdNES=2R Hsush
M os5UHELS
el Hsnsgds ¢ MblA e (LWEAY SEIAH) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HENEER Hsush 2,509,968 2,165,365 344,603
CEUHSLS 2,426,501 2,114,060 312,441
HEsnsg4ds 2 AHilA Jld(nsSAMg SE3H) 2,426,501 2,114,060 312,441
hsns ol2g4dst =48 397,994 90, 352 307,642
201 L2l 39,744 42,592 N2,848
01 At 22l 39,744 41,032 A 1,288
oznsEl=E 22 39,744
OAMUHA = 2 AIZEECHY B8 MZ
7,000& = 2,000& = 23l 28,000
OUsus0IEdtI 228 HE
500& = 6,000& 3,000
Olzus IEBMHA RSNU EEH MH
132,000& = 1H = 123 1,584
OCunss®dn M ME 882 * 20,000% 1,760
Olizsusgds 22 8+=% MA
80,000& =« 304! 2,400
OEANe=zs 28 222 MH
50,0002 * 60%& 3,000
203 R =&l 2,000 0 2,000
03 A Z=XH S =AY 2,000 0 2,000
Ollzsnes A gR=2 2,000,000& 2,000
301 L2 AF 13,640 9,760 3,880
09 HALAHIEA S 11,640 7,760 3,880
OUzEweE & 2LHRA &=l 10,800
O2g 2=t 20,000& = 309 = 12& 7,200
Cunssite s& X
10,000& = 30¥ = 12& 3,600
olzsneE & 2uUH 2Esaldl
7,000& * 30 * 43| 840
11IIEIEA S 2,000 2,000 0
OSHYEAl &1 Zaz 2,000,000& 2,000
402 2I2H X201 M 342,610 38,000 304,610
01 B2t AP E X 342,610 38,000 304,610
OALHH A LEDEH A X H2E S22
28,000& = 42004 ~ 123 141,120
OAUHA SHBLX FUHEXE B
10,0002 * 2,4994 24,990
OwWSIHE st I| FIHEX
350,000& = 400CH 140,000
OF AL A LED X E SH2I| HS
36,500,000& * 14 36,500
=z=ns HoAME &= 1,741,877 1,762,294 220,417
201 Let24d] 14,586 9,392 5,194
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2N
X ZH -
L= B

el

Adns=8 Hsusy
csHE NS
HEsunsgdst & AMblA Of

Hd(nSAY

Jin
ng
tob
=

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 14,586 9,392 5,194
oag+3 2,280
OBHESES(IZSHAEE)3HILER
6,000& * 3804 & 2,280
OFSFERer~ 2,118
OBHSE(ZXS2Ma2d)3blLR
6,000& » 3530 4 2,118
OMREPH 1,710
OBHSE(IZSHAEE)IHIER
6,000& » 2850H 2 1,710
CEI=Euk- 8,478
OBHSE(YXSHAEE)3bILER
6,000& » 41304 2 2,478
OHASZE 2A0II0l MBELHR(SAH)
50,000& * 100 * 12& 6,000
401 AIEHIZ 201 8I 1,727,291 1,746,902 219,611
01 A& Bl 1,714,942 1,734,584 219,642
oag+3 375,888
OUNBAE B4 2 By
1,000,000& * 1JH 2 1,000
OAMUHA RIHsZd £X & uXH
12,000,000& * 1200 2 144,000
OAUHA s2E 2= 2 FH]
50,000& * 3000H 2 75,000
OAUHA Zelol & SALSI £X 22,400
AR 1,800,000& = 8JH A 14,400
-2 200,000& 400 & 8,000
OAlLIHA s2E EA4 106,488
-S4 SEM(AUW)
20,0003 * 15401 * 23| 6,160
-2 2FA(8Y)
30,0003 = 2260 2~ * 23| 13,560
ST dutEA(AIU)
4,000& * 15401 A * 443 27,104
~SUT YBFL(SH)
6,000& * 22601 A * 443 59,664
OHASLE SA 2 S8 HAE £3(S4
INED) 100,000& * 2004 & 2,000
OHASZE LIoX AXI(SAIH)
2,500,000& * 100H 2 25,000
OFATHE 396,372
OANsZE S22l
1,000,000 * 1JH 2 1,000
OAMUHA s2E £X1 2 Wil
12,000,000 * 1300 & 156,000
ONMUHA s2E 2+ 2 Fl
250,000& * 3300H £ 82,500
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FN: dENSER HsnsH
M os5UHELS
Eel: Hsnsads & MdlA Hd(LsSAME SE3AH)
SA - ZE-B(EA) - NRAY - B S il &t o il
OAULIH A& &2/0] & SAHSI X 28,000
AR 1,800,000 * 100H £ 18,000
-2 200,000 * 5004 & 10,000
OHASZE SAHAE A (SAIH)
100,000& * 1074 & 1,000
OAlLIHA s2E E4 100,872
-52% 2FA(AMU)
20,0003 * 125004 = 23] 5,000
-S2E 2FA(SYH)
30,0003 = 2280 4 * 23| 13,680
~SUT YBHA(AU)
4,000& * 125004 * 443 22,000
ST YUEA(SH)
6,000& * 228 A * 443| 60,192
OHASZE SA L 2 HAE EX(SE=>
Al ZH) 100,000& * 2004 & 2,000
OHASZE LYIoX HX(SHAH)
2,500,000& * 100H 2 25,000
OM3+& 454,426
O 528 24 o F
1,000,000& * 1JH 2 1,000
OAMUHA RIHsZd £X & uXH
12,000,000& * 1500 £ 180,000
O8NS HASLE 2FS &X
1,600,000 * 220H 2 35,200
OAUHA s2E 2= 2 FH] 76,250
-FHsZE 250,000& * 285JH £ 71,250
-RHs2E 100,000 * 5000 A& 5,000
OAUHA 2el0l & SALSI £X 28,000
AR 1,800,000& * 100H £ 18,000
-2 200,000& » 5004 & 10,000
OHASZE SA £ S AHANE EX(S=
Al ZH) 100,000& * 500H £ 5,000
OHASZE DisscH AX(SAIH)
100,000& * 500H £ 5,000
OHASZE ISR (LR)HHI 9,600
-Jeteld &Y 15,000& * 1607H £ 2,400
-—QYUAH I 45,0003 * 16004 2 7,200
OANUHASZE dHEX 2 2AXML
700,000 * 2404 2 16,800
OAMUHA S2E Ea 72,576
-S2E 2FA(AMU)
20,0003 = 18314 = 23 7,320
-S2E 2FA(SYH)
30,000& = 102004 = 23] 6,120
-S2E LUt A (AIL)
4,000& * 183 A& * 443 32,208
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EA: AdNES=2R Hsush
M OSHELS
o2l HEWUsSEHs & MElA e (RDSAME SE3H) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
PN ET)
6,000& * 10271 * 443 26,928
OHASYY LT X (SHAIH)
2,500,000& * 100H 2 25,000
osg+3& 488,256
OHANsSZE A7 &X
20,000,00020 * 2044 40,000
OBANSZH B4 2 FY|
1,000,000 * 200 2 2,000
OMUHA SHsZE &X & uXH
12,000,000 * 1500 & 180,000
ONMUHA s2E 24 2 FHl 92,500
-RHsZE 250,000& * 3500H £ 87,500
s 100,000& * 5004 & 5,000
OANUBA s222|0l & SLESI| &4X 38,000
-ald 1,800,000& * 109H A& 18,000
-8 200,000& * 1009H £ 20,000
OAMUHA S2E Ea 108,756
-S2E 2FA(AMU)
20,0003 * 232004 * 23] 9,280
-S2E 2FA(SYH)
30,000& = 18104 = 23] 10,860
-S2E LUt A (AIL)
4,000& * 2320 & * 443 40,832
-S2E LU A (SH)
6,000& * 181004 * 443 47,784
OHASZE SA L 52 HAE EX(S=+
Al Z) 100,000 * 200 £ 2,000
OHASZE LYHOYX HX(SHAH)
2,500,000 * 1090 2 25,000
03 A& =2 THHI 12,349 12,318 31
oag+3 2,707
OAMUHA SHSZE EX & EALYE Al
=Rl 375,888,000& * 0.72% 2,707
oOFETH 2,854
OAMUHA RIsZE EX1 L E=AtE Al
20| 396,372,000& * 0.72% 2,854
OM3 & 3,272
OMUHA RISZE X1 L B=Atg Al
20| 454,426 ,000& * 0.72% 3,272
osg+3& 3,516
OMUHA RIisZE £X1 & Ex=AtE Al
A 20| 488,256,000& * 0.72% 3,516
ANUBA SET 22 91,182 79,353 11,829
402 RI2EA=20| A 91,182 69,750 21,432
01 It 2 AL E X 91,182 69,750 21,432
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2AN: HdEnsSs: tsusSt
HH: OSUHszWE
e snsgEds 2 AHUlA Jld(nessndg SE3H) (e &)
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s

o
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=
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£
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1
x
0
2
i
40
T
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1
>
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o
Jo

=

i
2m

= Hn

500,000
150,000
350,000

1

Jtot, A

ot=2H FBIALS

= N H

,000,000

500,000
120,000
380,000

1,000,000

401 AIEHIZ 2 I

= N H

,000,000

500,000
120,000
380,000

1,000,000

0

g

Al & Hl
©Jt0ot -

x
=]

02 Zeltl
©Jtot -

x
=]

03 Al& £ HHI

©Jt0ot - A g

ol
I
=]
M

ZHI A
953,290,000&

gﬂ
4>
]
9

ZHIAIY  43,850,000&

QJ
1>
]
-

ZHIAE 2,860,000

Z W = MW

= MW

953,290

953,290

476,645
114,395
362,250

43,850
43,850

21,925
5,262
16,663

2,860
2,860

1,430
343
1,087

953,290

43,850

2,860

=}
In
=
o
Ql
1
i

x
>

H

2l

429,000
300,000
77,000
31,000
21,000

429,000

401 AIEHIZ 2 I

H

H

429,000

300,000
77,000
31,000
21,000

429,000

01 A& dl

02 2teltl

©0lF OtScot== EXIAE 393,217,000&

O0l= OtSot=x EXIAHY 34,998,000&

H

H

Al

H

H

393,217
393,217

274,977
70,577
28,414
19,249

34,998

34,998

24,474
6,282
2,529

393,217
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SN BFBRARE SEEHY
HMa: oD WRe +ne
S 2205 T AMEEE Y 2H(=EMAH SESH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,713
03 AlE 201 | 785 0 785
©O0l= OIsolx=%= &EXAE 785,000& 785
= 549
J| 141
o= 57
Al 38
ol=&Z A& SIAHE ALY 20,000 0 20,000
401 AlEHIZ 2 0HY| 20,000 0 20,000
01 Al& B 20,000 0 20,000
Odt4=2ZZ A& HI| oK AFHI (CCTVEA)
10,000,000 = 23| 20,000
HZ - JIIE2aXHelAME S$=UNH (=ML ELSAH 1,376,250 3,338,750 AN 1,962,500
)
= 1,101,000
Dl 74,338
Al 200,912
X IJIEE2s delAldE HEAY 1,376,250 3,338,750 A 1,962,500
= 1,101,000
J| 74,338
Al 200,912
401 Al EHI L 204 HI 1,376,250 3,338,750 AN 1,962,500
= 1,101,000
J| 74,338
Al 200,912
01 Al&H| 1,371,313 2,978,750 N 1,607,437
OW==XN2 JI=2adelAld WY
1,371,313,000& = 14! 1,371,313
= 1,101,000
J| 74,338
Al 195,975
03 Al&E 201 Y| 4,937 0 4,937
OW==XN2 It=2aHdelAld HaaAg
1,371,313,000& = 0.36% 4,937
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N = 0l & At & Ml A

20168 = =20 & DIEIEE I H &AM
SN A AgEE 350
M MaTHD
SR ALAES Y A2 (=AML SEIH) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
AT AIGEER 41 154,490 163,725 N9,235
Il 154,490
AT 22 154,490 125,009 29,481
J| 154,490
ALRAES A A2 (FE NN SEHIH) 154,490 125,009 29,481
J| 154,490
MNP S A 2L 154,490 125,009 29,481
Dl 154,490
101 @121l 101,572 88,684 12,888
Jl 101,572
02 JIEt& E % 37,460 0 37,460
OFHIAH(=Z105E) 37,460
[OPIR==] 2,022,700& = 12& 24,273
Dl 24,273
(GRS F=r=; 2,022, 700& * 50% * 23| 2,023
Jl 2,023
OF24GIHA3 (5014104 0/ L)
50,000& * 12& 600
Dl 600
OJIESY 960
—bH 2 Xt 40,000& = 12& 480
J| 480
-JIEtIE 20,000& * 2¥ 128 480
Jl 480
OELg2rd (=) 40,000& = 12& 480
J| 480
Ox=m=22Rg 8,591& * 40Al2F = 128 4,124
Jl 4,124
OFMZAY| 130,000& * 128 1,560
J| 1,560
OY ZE = 2,022,700 * 60% * 23 2,428
Dl 2,428
O I AHH| 2,022,700 = 1/30 » 15 1,012
J| 1,012
04 JIZtHI22NHSE 64,112 88,684 N24 572
OUEBM+ATETA AH P4
48,2803 * 6Y x 200 57,936
Jl 57,936
OJIZtNIZ22 X 4B E =2 6,176
OAUEESZ 57,936,000& * 3.035% 1,759
J| 1,759
OIILYEEZ 1,759,000& * 6.55% 116
Dl 116
O=01H= 57,936,000& * 4.5% 2,608
Dl 2,608
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EA: dZAgER F0
M MaTHD
ol MARESTY A(LEHM SBE) SREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ons=sg 57,936,000& * 1.5% 870
| 870
OtHEd 57,936,000& * 1.42% 823
| 823
201 £B-2dH| 11,058 22,281 211,223
J| 11,058
01 At 2t 2|l 3,520 12,542 AN9,022
OFEH2R 22=, Wi, Wi
250,000& = 23| 500
| 500
OZAN&H 222, 225
100,000& » 6H « 13l 600
| 600
O0s28 g2 M= 2 &X
100,000& * 200H £ 2,000
| 2,000
OFZANH 22123 7¢ 420,000& 420
| 420
02 2=2Z4l 7,538 9,739 A2,201
OXt= gse 20,0002 = 13| 20
| 20
OX =Xt 1,500,000 * 1CH 1,500
| 1,500
oxgssU 5,058,000& =« 1CH 5,058
| 5,058
O XS XHA 260,000& * 23| 520
| 520
(OPNE=PNEE=] 400,000 * 1CH = 13 400
J| 400
CEZMEREZ 40,000& = 13l 40
| 40
202 oddl 3,000 3,600 A 600
| 3,000
01 = LH o4 1l 3,000 3,600 A 600
O&=+RAEBs29 =&Z0H 20,0008 » 150 3,000
J| 3,000
204 HR=HAH| 1,860 600 1,260
| 1,860
02 g2 Xl 1,260 0 1,260
OXNZEBXZHI(HIAF ) 105,000& * 12& 1,260
| 1,260
03 EZYRFHI 600 600 0
OSZFYRZHI 50,000 = 1% = 12& 600
J| 600
401 AIEHI 2 201l 4,000 9,844 A5,844
| 4,000
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SN ASEAYER HaD
M Nz
tel: dRAESPY 22 (=FEMHE SE3lH) (&)
SN HH-S(BN) - MBAY - B il HlnE2
01 A& HI 4,000 9,844 N5,844
OCHUHEXE, NSESHU &X ¥ E=
1,000,000& * 400 2 4,000
| 4,000
405 XH4HE S| 33,000 0 33,000
| 33,000
01 XL 2 ZFH S| 33,000 0 33,000
OXt&ET I 33,000,000& * 1CH 33,000
| 33,000

_55_




= A
N = 0] &F AF S & AN A
20168 & 20 A JIEIE Y3 H &
SN TAHEASS T AIDHE D
T AR
SRl JIBAE S (DISAE EL3H) (2 &HH)
x 5 - 4
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
TAIIDHEAFS SF S Al D & 1} 199,744 401,201 N 201,457
S AR 199,744 401,201 N 201,457
JIBFAIEEYZ2(D|BHAIE EEHEH) 199,744 401,201 AN 201,457
JIBtAIE X 0f Y 199,744 161,044 38,700
401 AlEHIZL 2 0HY| 199,744 161,044 38,700
01 Al& H| 199,744 161,044 38,700
O EXI0H bl 199,744,000 199,744
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N = 0l & At & Ml A

2016 & 204k JIEFSESIAH M
N ANESEAL L
B DMZY HYSSANLL 29
el siHsSsE2c (RS SE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NHEEAMS L 729,847 702,781 27,066
DAHSH NESEAGL 29 658,215 637,433 20,782
NSHESE2 (REAY SESIH) 658,215 637,433 20,782
NSHsELR g28 2 630,735 609, 953 20,782
101 @14 dl 226,375 210,319 16,056
4 D12t ZE2XREES 226,375 210,319 16,056
ORN+Y L HEY 22X
48,280 * 1H » 258 113 13,277
OXE0ld Mare e
48,280 * 4H » 258 « 113 53,108
OUHE=Rl ¥ MENEHE d+=2x
48,280 * 3H » 258 « 113 39,831
OFSHIAXNAN E=52X
48,2803 * 3¥ * 25 « 11& 39,831
OBENS NTSE 2 FIBA QB
48,2803 * 18 = 252 « 11& 13,277
OASIH L HYLL HMYADE
8,280& * 18 » 25¢ » 113 13,277
OLHWAZTY SIBAN Doz
48,280 * 2H * 258 « 113 26,554
OJIZtH 22X YE S|
200,000& = 159 « 23] 6,000
QJIZHZ=X 4HEE JI22g3 21,220
(OFaR= k= 1= 199, 155,000& * 3.035% 6,045
OINLAEEE 6,045,000& * 6.55% 396
O30z 199, 155,000& * 4.5% 8,962
OCnE:Ld 199, 155,000& * 1.5% 2,988
OMTHES 199, 155,000& * 1.42% 2,829
201 LB-2dH| 338,069 330,953 7,116
01 At 22l 107,090 100,330 6,760
OXNYSE HF2I3H| 104,780
OdLEH A28 2¢ 11,756
-dolMEZEH EU
220,000& = 2004 = 13l 4,400
-DANMEY ZEH EYH
500,000& = 104 = 33l 1,500
“HMAEY 70,0003 = 50 = 23] 700
-SAHI EH 260,000& = 304 = 33l 2,340
-oIBI HE 528,000 24t 1,056
“MEESAD 2SR 10,0008 * 104Xt 1,100
—ENEHEZE dZIIE4 33,0003 * 2004 660
OYRUd === 5,670
-E3E A 400,000& = 13 400
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SN XS
Za: DAS

=S DA 313) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—AROHH a2 200,000& * 123 2,400
—EJjot B HasE
110,000& * 123 1,320
~EAMHIE 2ABA 242
1,300,000& * 13l 1,300
-EMN AS 22 50,000& * 53| 250
OXtSXHAAIHSE HZ 7,000& » 400X 2,800
ONSXNSAHEY U o2 o 40
70,0003 * 4004 * 43 1,120
OAHEIHEZSA HES 8,000&  5000H 4,000
OXtsxtzely HG2Y 80,000& * 53 400
OXsxssS2d Mal ol 40,790
A HE ESENEAM 9
3,500& = 5O$J * 9F * 23| 3,150
-HEY 23 MEAM 25
3,500& * 503 * 2& * 23| 700
-NE, A ALI|H L 0EXNS I
3,500& = 10& ~ 17—‘- * 23] 1,190
-AsIHE A OF & WEHE RUDXM 5
ES 80,0003 = 2& Xt « 58 * 23| 1,600
-OIREE ot ¥ WEHE RUIRXAN 5B
80,000& = 2&LKt » 58 * 23] 1,600
“AAsXHLEBSHEAM 353 + 20,0000 x 23] 1,400
-AESAEEE 70& * 50,0000 * 23] 7,000
-AsUHESERR 403 * 20,00000 = 33| 2,400
-SEE2ENE AA™E B U2
250,000 = 2& X * 23] 1,000
-—SEXE HYgEE QUE
250,000& = 3& A * 13 750
-FHENMMNDYEEREE XA
80,000& * 1504t Xt 12,000
-=AEZ2XA 80,000& 504t Xt 4,000
-ESEE£10XAN 80,000& * 50&t At 4,000
OO INEE MEA SSMHLRSE S
N === 3,600
-gREE =8 3,000& = 600A 1,800
-AFHH == 3,000& = 600A 1,800
O3J18EJ0 ¥ d28 )| gz
48,7003 * 500 » 12& 2,922
OdI<E HMAEH 778 * 15,5002 * 123 14,322
ORI LZAAE Ol8+2
1,450,000 * 128 17,400
OJIZtN 22X A & AZB NS S
7,000& = 159 = 23| » 11& 2,310
3224l 230,979
02322 % HAl 202,214
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AHESSAE L
DASY NHSEANEL: 2E
AAsxAHsSE2e(DEMY SEAH)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORER3 176,436
-S I 1,900& = 5,0008 * 128 114,000
- et 270 = 15,0008 » 12& 48,600
-SIlgtsa 1,630& * 600 = 123 11,736
-tHE =Y 3,500& * 508 » 12& 2,100
Oo&IIe3 1,200,000& = 12&8 14,400
(OFSE- 3 TE=, 50,000& = 504 = 12& 3,000
OfIdgEARS 30,000& = 12& 360
OMEXEY HSHIXNIRE S4L=
55,000& = 1CH = 12& 660
OQUHYUNMH 2= 35,000& = 12& 420
Odt=Ee= 185,000& * 123 2,220
OZNERES 70,000& = 23l 140
OLSRERES 200,000& = 13l 200
OAgotdH 3l | 48,000& = 13l 48
OFAHZH=2A MEESEE Il
100,000& * 3H 300
OZEXY MASUS 1,150
-SEEE(SEXN) 350,000& = 1CH 350
-SEEE(stER) 650,000& « 1CH 650
-t = XA 150,000& * 12l 150
OXtsxt2eld, g E 85 Jta
HE AE= 80& = 3,0004 = 123 2,880
O =l 1,356
OQIAal gt 1,356
-5
9413 * 20 * BAIZ2H » 10H » 90 1,356
O A& &EHl s Xl 18,202
Oz &=H 1,500,000& * 51CH * 6% 4,590
Oxeg 750,000& = 390H » 6% 1,755
O&E R =Z A 3,700,000& = 3CH » 6% 666
O &I 1,265,000 = 6CH * 6% 456
OZALE S| 1,500,000& = 501 = 6% 450
O2MME DI 1,500,000& = 2CH * 6% 180
O1XAM =5 Z2f
8,000,000& = 108 = 6% 480
O2MEEI 6,600,000& = 108 = 6% 396
OHHSEHECD] 2,200,000 * 1CH * 6% 132
OosEzs =g 5,850,000& = 108 = 6% 351
O Htg D] 3,700,000 * 9CH * 6% 1,998
OREBEXNEESXN AL RS
97,500 * 123 1,170
OxnXzelz2d SAE=>
23,660,000 * 6% 1,420
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SN XS
Za: DAS

=@ X 3 A (e &)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
OHSHIAXANAE RXNE >
4,158,000& * 14 4,158
O Xt &k 8| 9,207
o&E2xe =Xl 9,207
-8 4,908,000& * 1CH 4,908
-ot=2 4,299,000& * 1CH 4,299
202 O B 12,240 12,240 0
02 EHNYI 12,240 12,240 0
OHAEI|H FI| B &t HY|
170,000& ~ 1Y » 12& 2,040
OSYAMNHAZE ATHEAN 2 HAHHI
170,000& + 59 » 12& 10,200
207 Ao Y| 7,700 19,000 A 11,300
02 & AR Y| 7,700 19,000 A 11,300
OlHlE MYXsE EX Z2 08 JHIEE &
S3t AlAE 2= 7,700,000& * 14 7,700
301 et A2 15,051 14,941 110
0B A ERILAZ 15,051 14,941 110
ONSXHEE g2 X 15,051
O3U22 243 14,811
e ralsll 171,400& » 39 = 12& 6,171
-S Al 7,000& * 3Y » 252 « 128 6,300
- SH 2,600& * 38 » 252 x 12& 2,340
Oz3uzeed o= 240
=2= 60,000& * 28 * 29 240
405 XtabF SHI 31,300 22,500 8,800
01 A&t =S F SHI 31,300 22,500 8,800
OHFAMNRE HH Y 20,600
ZBEH 1,400,000& = 10CH 14,000
Odlol M Z el g 600,000& = 10CH 6,000
OFAX 600,000& * 1CH 600
OMESAMY 950,000& * 2CH 1,900
OS2 AM MIED| 1,000,000& = 1CH 1,000
O&&A 2| Xt 300,000& « 264 7,800
OFM Gt BW S M A2 27,480 27,480 0
307 QI2t0| ™ 27,480 27,480 0
05 A2t E = 27,480 27,480 0
ORCAHAAEY S 2AH|
190,000& = 12& 2,280
ONTSSAAL HA
2,100,000& = 1H = 128 25,200
HEHSHAH (NHEEANHA) 71,632 65,348 6,284
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SN HYSSBAYL
o WHSAPH (HTSSAYL)
2R (DSAY SB3H) SREED

- _ _ RE]
M- B (B H) - NSAY - B Ol &F o4 %@i 2t
EAH(NEANY EEHEH) 71,632 65,348 6,284
=344l 71,632 65,348 6,284
201 et d| 38,152 31,868 6,284
01 AP 2t 2| bl 38,152 31,868 6,284
oJlE2geLdist s AL (JI=Adl)
500,000& * 38H 19,000
oO3EHI(J1=ZHl)
7,000& * 38" * 62 x 128 19,152
202 044 33,480 33,480 0
01 2L Y| 33,480 33,480 0
O=LoHlI(JI=ZHl)
20,000 * 31 = 4,52 * 12€ 33,480




